
 

  1000 100-25 = 75%   .75*.93*310*.8*1000 = 173,000 mi 
  3000   75-25 = 50%    .50*.93*310*.8*3000 = 346,000 mi 
  5200   75-25 = 50%   .50*.93*310*.8*5200 = 600,000 mi 
  6600   75-45 = 30%   .30*.93*310*.8*6600 = 457,000 mi 
  9000   75-65 = 10%   .10*.93*310*.8*9000 = 208,000 mi 
 

My experience is that non conservative driving of the Tesla 3 
results in closer to 3.2 miles per kWh than 4 miles per kWh.  
Therefore, a .8 range (or distance) derating has been applied.   
.93 is an estimate of the average of energy in the battery from 
100% down to 90% of capacity, i.e. a diminishing of the 310 mi. 
 

https://twitter.com/GenePreston 

Tesla 3 Long Range Battery 

Topping off at 100% will  

shorten the battery life. 

Many small charges at 

75% cap seems to be ok. 

https://twitter.com/GenePreston

